様式第５号（第５条関係）
門　柱　図


C (             )


B (             )



                                          　門柱　　　　　　　ヶ所

　　　　　　　　　　　　　　　　　　　　　　 Ａ　　　　　　　　 Ｂ　　　　　 Ｃ
　　　　　　　　　　　　　　　　　　　　　　（　　　　ｍ） × （　　　　ｍ　+ 　　　　ｍ）
　　　　　　　　　　　　　　　　　　　　　　Ａ (              )

　　　　　　　　　　　　　　　　　　　　　　　　　　　　　 ＝　　　　　　　　㎡
　　　　　　　　　　　　　　　　　　　　　　
　　　　　　　　　　　　　　　　　　　　　　
　　　　　　　　　　　　　　　　　　　　　　





※記入例



C (   ０．５ｍ    )


B (   ０．５ｍ    )



                                          　門柱　　　２　　ヶ所

　　　　　　　　　　　　　　　　　　　　　　 Ａ　　　　　　　　Ｂ　　　　　　Ｃ
　　　　　　　　　　　　　　　　　　　　　　（　1.5　ｍ） × （　0.5　ｍ　+　　0.5　ｍ）
　　　　　　　　　　　　　　　　　　　　　　Ａ (   １．５ｍ　)

[bookmark: _GoBack]　　　　　　　　　　　　　　　　　　　　　　　　　　　　　 ＝　　　1.5　　㎡
　　　　　　　　　　　　　　　　　　　　　　
　　　　　　　　　　　　　　　　　　　　　　
　　　　　　　　　　　　　　　　　　　　　　




